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HE: MY
chel: AR X2 (el @2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 AP 22| H| 1,600 1,600 0
O ddet=2H| 1,600
o BAYETUX Xsta +HAMN 242
400,000€ * 24 A * 23] 1,600
02 2324 30,344 30,344 0
O 2222 2 HA 10,344
o A== HII=2 10,344
- 38 s 6,000 * 12&€ 72
- JI2s 8,0008 » 325 x 12&€ 3,072
- M= 2FE  120,0008 * 504 + 128 7,200
O AN&FHIRI 20,000
o NgaE TTAES BH L 24
20,000,000 = 14! 20,000
202 o4l 4,020 4,020 0
01 2Ll 4,020 4,020 0
O KgHarch AR 319 M (MYE - )
85,000& x 2% x 3Y x 63 3,060
O Xgac JEHFA 25
20,000& * 2% x 4L x 63 960
206 M = Hl 900 900 0
01 X2 H| 900 900 0
O SY=IJLN 4T £S%E 7
4, 500& * B0Kg * 2& * 23] 900
=ENE SetMdE N (Y =sZ2SX) 200,000 200,000 0
Xl 100,000
Al 100,000
401 AlEHIZL 201 Y| 200,000 200,000 0
Xl 100,000
Al 100,000
01 Al&H| 198,560 198, 560 0
O SAd=2CHA JIEHAIA A
200,000,000& * 99.28/100 198,560
Xl 100,000
Al 98,560
03 AlE 201 | 1,440 1,440 0
O SAd=2CHA JIBHAIA A
200,000,000& * 0.72/100 1,440
o=NC SSLEE2G 29 81,770 81,500 270
202 o4 H| 3,270 3,000 270
01 2Ll 3,270 3,000 270
O 223 39 A=A, NEAAM)
20,0008 * 2% * 22 « 93| 720
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O fZgdEsdH2E NI (ST AMY)
30,000,000& * 13l 30,000
308 X EHSOIA 618,000 618,000 0
07 IXNHHAR S = 618,000 618,000 0
O K==Al AEDIY SHMY 2ES(TEX)
150,000,000& * 13l 150,000
O Al XFE SAHE JISNEASE
150,000,000& * 13l 150,000
O detgr SAM)|gs4II3 2E3(8x4)
3,180,000,000& = 1/10 318,000
SAHE L 2dXtel X (AEI S/ =S) 193,160 161,380 31,780
= 40,000
Al 153,160
SAbQHE ®HEMA R 94,760 67,980 26,780
= 40,000
Al 54,760
A OHEE S8 EXRAA RF 44,760 17,980 26,780
201 Let24d] 11,520 11,520 0
01 At 2teltl 3,920 3,920 0
O det==8H| 1,720
o 22X FAEF 7L
60,000& = 12& 720
o ZRA=XE 2 AYAL S5 3L HF
T3 500,000& = 23l 1,000
O 2d+¢ 2,200
o LAQINEOG &AM 2o
100,000& » 1198 » 23] 2,200
02 2324l 7,600 7,600 0
O =322 % XA 3,600
o ZZN=EXNZH 323
300,000& = 12& 3,600
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o Z2ZA=EXs2 dIls FANEx
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AN AHEX R D
FE: L ArE 2 dXtel NE(AS=EX/=S)
oelr 22X =2XNEX EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O 22X & A AFHEX
4,000,000 * 20HEHH * 13 8,000
22X 80ts A 38,000 33,000 5,000
307 gl2tol & 38,000 33,000 5,000
04 DIZHHALALSE E X 38,000 33,000 5,000
O 22X &0t MSEA MEEX
33,000,000& * 12/ 33,000
O bttt SHEALLCX S AU
) X& 5,000,000& = 13l 5,000
HE2HAH (AKX D) (IEHDIEL) 71,344 84,224 A 12,880
el 2 7,817 16,708 A 8,891
ol 2| 7,817 16,708 A 8,891
101 14l 7,817 16,708 A 8,891
03 RIHAZ 22 7,817 16,708 A 8,891
O A28 7,817
o IBAZ(MREX)
9,726% * 1F » 20AI2+ = 12& * 150% 3,502
o <A (AMNFEZHUHA)
11,9842 » 18 » 20AI2+ = 12& * 150% 4,315
Jl=&dl 63,527 67,516 A 3,989
JlE2ztl 63,527 67,516 A 3,989
201 Let2d] 41,958 44,452 A2,494
01 At 2teltl 41,958 44,452 A2,494
O Let=3Hl TUAH 23,077,000& = 14 23,077
O =&t SHAL 18,881,000 » 14 18,881
202 044l 10,770 12,960 A 2,190
01 =L o4 1l 10,770 12,960 22,190
O BA2Y SHAHA 9,920,000& = 14 9,920
O SASINMES 918 SALL B
50,000& = 179H 850
203 ¥ S =&l 10,799 10,104 695
01 JI1228Y2=4H 3,300 3,300 0
O QHEHESHHF ALY EHE 3,300,000& * 14 3,300
02 It =2 3,899 2,604 1,295
O &retstA At S 2@ AP X2 2 H(137Y)
((40,000& * 100 ) + (30,000& =* 37Y)) = 3,899
76.3%
04 FN2IELSZ=TH| 3,600 4,200 A 600
O &HEHXIE DH(20E) 300,000& = 12& 3,600
MRS (AX D) (MY - S Y/Mg - SAD| Y 300,000 300,000 0
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SA - BB B () - MM - BES e
HEAHHX = 300,000 300,000
HEHAH X = 300,000 300,000
702 JIS3HES 300,000 300,000
(O RPIE=RSE-<3= 300,000 300,000

O W==Al s 8&3
300,000,000& * 14 300,000






